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STATISTICAL ANALYSIS 

Time : Three Hours ]  [ Maximum Marks : 100 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 
vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 
Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 
(UNIT—1) 

1- lkaf[;dh dh mfpr ifjHkk”kk nsrs gq, bldk vU; foKkuksa ls lEcU/k 
LFkkfir dhft,A  
By giving suitable definition of Statistics establish its 
relation with other Sciences.  

vFkok 
(Or) 

izkFkfed leadksa ds laxzg.k djus dh fdUgha nks fof/k;ksa ds xq.k&nks”kksa dk 
o.kZu dhft,A  
Describe merits and demerits of any two methods used in 
collection of primary data.  
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bdkbZ&2 
(UNIT—2) 

2- ,d QqVckWy l= esa nks Vheksa A ,oa B }kjk fofHkUu eSpksa esa fd;s x;s 
xksyksa dh la[;k fuEu izdkj FkhA crkb, dkSu&lh Vhe vius izn’kZu eas 
vf/kd laxr gS % 

,d QqVckWy eSp esa fd;s x;s 
xksyksa dh la[;k 

[ksys x;s QqVcky eSpksa dh 
la[;k 

Vhe A Vhe B 

0 27 17 

1 9 9 

2 8 6 

3 5 5 

4 4 3 

The following table gives goal scored by two teams A and B 

in a football season. Find the team which is more consistent 

in its performance : 

No. of Goals scored in a 
Match 

Number of Football 
Matches Played 

Team A Team B 

0 27 17 

1 9 9 

2 8 6 

3 5 5 

4 4 3 
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vFkok 

(Or) 

¼v½ fuEufyf[kr vk¡dM+ksa dh lgk;rk ls dkyZ fi;lZu lglEcU/k 

xq.kkad Kkr dhft, % 

X Y 

11 20 

10 18 

9 12 

8 8 

7 10 

6 5 

5 4 

Calculate Karl Pearson’s correlation coefficient from 

the following data : 

X Y 

11 20 

10 18 

9 12 

8 8 

7 10 

6 5 

5 4 



 [ 4 ] D–3064 

  (A-46) 

¼c½ fuEufyf[kr rF;ksa ls fLi;jeSu dk dksfV&vUrj lglEcU/k 
xq.kkad dk ifjdyu dhft, % 

Øe la[;k dksfV vUrj 

1 – 2 

2 – 4 

3 – 1 

4 + 3 

5 + 2 

6 0 

7 ? 

8 + 3 

9 + 3 

10 – 2 

From the following data calculate Spearman’s rank 
coefficient of correlation : 

Serial Number Rank Difference 

1 – 2 

2 – 4 

3 – 1 

4 + 3 

5 + 2 

6 0 

7 ? 

8 + 3 

9 + 3 

10 – 2 
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bdkbZ&3 
(UNIT—3) 

3- ¼v½ ,d FkSys eas 6 yky vkSj 4 gjh xssansa gSaA vk¡[k ij iV~Vh ck¡/kdj 
,d&,d djds nks xsansa fcuk iquLFkkZiu ds fudkyh tkrh gSaA 
D;k lEHkkouk gS fd nksuksa xasnsa yky jax dh gksaxh \ 
A bag contains 6 red and 4 green balls. Two balls are 
drawn blind folded one by one without replacement. 
What is the probability that both will be of red colour ? 

¼c½ A vkB ckj eas ls ik¡p ckj lR; cksyrk gS rFkk B vkB ckj esa 
ls 3 ckjA bl ckr dh D;k lEHkkouk gS fd mlh rF; dk 
dFku djrs le; os ,d&nwljs dk [k.Mu djsaxs \ 

A speaks truth 5 times out of 8 and B speaks truth 
3 times out of 8. What is the probability that they will 
contradict each other in stating the same fact ? 

vFkok 
(Or) 

f}in forj.k ij mu n’kkvksa ftuesa og mRiUu gksrk gS rFkk mldh 
izeq[k fo’ks”krkvksa dk o.kZu djrs gq, ,d fVIi.kh fyf[k,A  
Write a note on the Binomial distribution describing the 
situation in which it arises and give its chief characteristics.  

bdkbZ&4 
(UNIT—4) 

4- 12 jksfx;ksa esa ls izR;sd dks fn;s x;s ,d míhid ls muds jDrpki eas 
fuEufyf[kr ifjorZu gqvk % 

5  2  8  –1  3  0  –2  1  5  0  4  6  

D;k ;g fu”d”kZ fudkyk tk ldrk gS fd míhid ls lkekU;r% 
jDrpki esa of̀) gksrh gS \ 
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A certain stimulus administered to each 12 patients resulted 

in the following change in blood pressure : 

                5  2  8  –1  3  0  –2  1  5  0  4  6 

Can it be concluded that the stimulus will in general be 

accompanied by an increase in blood-pressure ?  

vFkok 
(Or) 

fuEufyf[kr leadksa ls ‘kgjh ,oa xzkeh.k {ks=ksa eas lk{kjrk ,oa csjkstxkjh 
ds chp xq.k&lEcU/k dh rqyuk dhft, % 

 ‘kgjh  
¼yk[k eas½ 

xzkeh.k  
¼yk[k eas½ 

dqy o;Ld tula[;k 25 200 

lk{kj tula[;k 10 40 

csjkstxkj tula[;k 5 12 

lk{kj ,oa csjkstxkj tula[;k 3 4 

From the following data compare the association between 
literacy and unemployment in rural and urban areas : 

 Urban  
(in lakh) 

Rural  
(in lakh) 

Total adult population 25 200 

Literate population 10 40 

Unemployed population 5 12 

Literate and unemployed 

population 3 4 
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bdkbZ&5 
(UNIT—5) 

5- lkaf[;dh; fdLe fu;U=.k ls vki D;k le>rs gSa \ m|ksx esa bldh 
vko’;drk ,oa mi;ksfxrk dh foospuk dhft,A 
What do you understand by Statistical Quality Control ? 
Discuss its need and utility in industry.  

vFkok 
(Or) 

35 o”kZ ls de vk;q ds vijkf/k;ksa dk izfr’kr vuqekfur dhft, % 

vk;q ¼ls de½ vijkf/k;ksa dk izfr’kr 

25 60 

30 70 

45 100 

Estimate the percentage of criminals less than the age of 
35 years : 

Age below Percentage of Criminals 

25 60 

30 70 

45 100 
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